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REZX KM -
SIRAT] 50000 =0 1000
FMEAASIL
hEETEE 30000 (@)= 1000
258
M= 500 BO&E 600
SIOES 60000 MOBf 600
FHOF 30000 sROER 500
P OHBA 20000 HO=R 500
B O 10000 RO 500
NOE=4 10000 MLO= 500
O%E 10000 2BOFH 500
FO=E 10000 =0 500
EEOH# 6260 EO%E 500
=0% 3600 EJ@) 500
=0 3000 TORE 500
ZO % 2600 = O8f 500
OF 2000 O 4 500
TeHEER 1200 Z2OH 500
=082 1000 RO 300
MO%E 1000 =0[R 300
=0F 1000 ZIOYE 300
20O 1000 ZHOL 300
EEOf 1000 HOZ 300
Z=0% 1000 ROfE 300
15 O & 1000 FO=E 300
E#EOHRA 1000 Z0OR 300
FEOWK 1000 =ZOhAT 300
Z=0X 1000 £ [OF =t 200
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=005 200
=015 200
MOER 100
=0 100
RO 100
12O, 100
#FOE 100
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